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F.Y. Reg.No. 417
September 2016 Name .13
First Year Higher Secondary Improvement Examination
Part - I11
BIOLOGY

Maximum : 60 Scores
Time : 2 Hours
Cool off time : 20 Minutes
Preparatory time : 5 Minutes

KGeneral Instructions to Candidates : \

® There is a 'Cool off time' of 10 minutes each for Botany and Zoology in
addition to the writing time of 1 hour each. Further there is a '5 minutes'
'Preparatory time' at the end of the Botany Examination and before the
commencement of the Zoology Examination.

® You are neither allowed to write your answers nor to discuss anything with
others during the 'Cool off time' and 'Preparatory time'.

® Use the 'Cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® C(Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® (Give equations wherever necessary.

® FElectronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.
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PART - A
BOTANY

Maximum : 30 scores

Time : 1 Hour
Cool off time : 10 Minutes

By examining the four
matchpairs given below, find the
correct matched pair from the

alternatives given below.

1. ®e¢ omfdenmm 4 acemoauled
al@lewwodse, tualwow aBEROA 5608

®O6Y ORHOSIOTIAHOM OEHOERE @

oo’ 3660301 ag)9)@16.

(1) Racemose — Peduncle grows indefinitely

e0Mvicaomy -

WSS @ene @orlval@acel aigoymy

(i1) Epigynous flower

afafleenmmd qgaid  —

Ovary superior

@TEMELITLIC DYos @3 BOEMEQSIMY

(111)  Phyllotaxy —

a0l@e[0s0wes Ml -

Arrangement of leaves on the stem

LOEMAOT@ LRIBHOS Qy@IOMUo

(iv)  Coleoptile —

e 066 e s -

Envelop covering the radicle

odadlesliglom mysim @oarsmo

a) (1) and (ii)

b) (1) and (iv)
¢) (1) and (iii)
d) (i) and (iii)

Identify the cell organell known
as 'powerhouse' of the cell from

those given below.
a) Lysosome

b) Centrosome
c) Mitochondria
d) Plastid

KR-40

a) (1) and (ii)

b) (1) and (iv)

c) (1) and (iii)

(1) d) (1) and (iii) (1)

2. o0y ewosiomigesaoid “adqyd

adIM” a)MAWOSITN EEHOWI0M
OO @Ial Ol ag) Ly, '
a) ©eRIBIVLOBIVIC |
b) emdesoeros

C) ©OBEROCHMWIW

(D) d) gyoglas (1)
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Cell wall deposits of diatoms are WRORMIBHEINS EHONEIOTHWIOS
called diatomaceous earth. @AW YTBOY  WQIBRIEDaHITY
‘Write any two uses of it. (1) )@ ag)imy alo@imy. IO
a@e@®sIelo 2 9ale@ono ag)Py®». (1)
In timber yielding plants, only an®emlal® mldonoem ey’
the central part of wood is used 8O B Q) BHEOBEIOS
for making furniture. ®slwies 0avy @2Wo 0d@EQ
Name this part and justify your @@IMOY §aleOUlENINRa].
answer. (1) 60D BONMTIOM GaloEV®] ATlEMBEIOS
@ E (@ I0WOED MO BBl B6)d:. (1)
Light reaction involve cyclic and (000 2RISETIED EDRIBEISOMIHRINS
nonceyclic electron transport. 2@ Q0 B0ld(@HAUIR0W
Classify the features given al@(B@6Mo MSTMEQSYTN]. @O
below under the above stages of 05050 @B WAEH® 08
light reaction. (& 0wRIsEmIOn  CathalOamm
, afleomemslelow] meo @IClLeH.
a) Only pigment system I is
a) oflvea@® migye I  oowo
involved
- OO
b) ATP and NADPH are formed b) agglaflwie agd.agalielflagalie
©6MBOBITNY.
c) Splitting of water occurs ¢) meomd afleeisme
d) Only ATP is formed @) Moealeoymy
d) aggladl 2o@o ©EMB0HMY (2)
Cyclic electron transport Noncyclic electron transport
Turn Over
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6. Double fertilization is a unique
feature of angiosperms. Explain
the two processes involved in
double fertilization.

7. The internal anatomy of dicot
and monocot stems shows many
differences. Mention any four
differences between their
vascular bundles.

8. Identify the diagram and label
the parts shown as
(1) e
(65 I
(A1) e
(AV) e

KR-40
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(2)
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aflenflee qugmeimo @RMEICWOBNY DY
£8IT OO(@o  HIME QS B0}
maflerad®wos. BRGI@ oWeas 2

(D QllvoE| B0l

. eflefll’ a@rvmyemslo apdeenile

AJ@IOMVETBEI0 ATI@ HOEMLETIOMR
eomold @MOSNIWI® Word8o
QUBIOIVETBUR  £06MIM]. BOQUWIOS
MoQiadM Qljla0an® @olepes 4
CUY®IOVETBUR  ag)PI®h.

ol®o

o@e@m @lalai ey

#06m 2101661 EOMEMBUR

@OSWOGEC|SYTTH.

O N

(A1) e

(111)

(iv)

417

(2)

(2)

(2)
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Chemiosmosis theory  of
requires a

ATP

synthesis tc occur. Explain any

photosynthesis

protein gradient for
two events that causes protein

gradient.

Ribosome is the cell organell
seen in both prokaryotes and
e.ukaryotes. Mention how
ribosomes differ in prokarvotes
and eukaryotes. Also mention

the function of ribosome.

Observe the

identifv the phenomenon that

diagram and

in the transport of
Also
mention the three type of

helps
molecules 1in plants.
movement of molecules shown in

the diagram as (i). (i) and (i1).

KR-40
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10.

11.

(aldHOWD moczggnmemmm%
o@alsomieaonilmy alwd @mud e,
aglall (oG@aneMo MSHEIT@
Glaloegoem

B0} g

@IS, Ele 28536 UMW
BEMBIH O £ 5O 2

ezt Alldlooleaid:.

2, 500EOS|dEleI0 Gla0d:0EEWOS)
Sefleljo H06MEQ|SH EBOUB00UNDOENS
OOEENIOBTVI0. B0 OB GRS ]
el WBOCleOS)HElRllo HOHOEMIO—
Moo  aREBeMm  Qly®OTealsial
HOY af)iMio ©OOEIoEMOalOM

WAMERNT ag)TNie af) LI

afl@o M@leHlH8>.

oo e e @ L oMdOO(®O
MOeLaCOETIM M a0 010N
(@ EOMOED GIT2ClET ag)Li®ibs.
afl@esiad (1), (11), (11) agmlesem
cosungseieigies 3 dlololeyss

EDOO(®O

A aOM D)

BalOQLID .
(i)
(11)

A
(1) B~

417
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(2)
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12. About 16 elements are found to 12. cvovyemaies ]o@oQi1 e
be needed for the normal growth L bl Weelo AUl omemlmo
and development in plants. QRBHEBUWO 16 D)8l 6B (D
Mention the three important @O®Y00 Wy MO6M’ agam’
criteria for the essentiality of an Hemovlulgies. 8oy nyeleowlof
element and the metalic element IV IP N ) mluz@leeim
forming the  structural QOMBETLEBR  oRO®E OB
component of chlorophyll aN@I@BMETOR cismEI@ (aldom
molecule. (2) al8hlUa0len)mn  GRI0AD  MRidho

Q@OBNe G LY.

13. Match the following. (2) | 13. caiopais caideamei®:.

A B
a) Stomatal Closure 1) Cytoplasm
@DIVIOM(Wo @S] allepalelWelgghle
b) Citric Acid i1) Plasticity
milsles) @pmilay adogulavigl
c) Glycolysis 111) Ethylene
£6REH0glavImy’ agiLdleflad
d) Heterophylly 1v) Kreb's cycle
£a0QeE02adlgfl BB e muesld
v) ABA/agyenflag)

14. Auxin and Gibberellin are two 14. vy usdoyew mleEmlesmm
important growth hormones 2 (aiwom qIgdo) @Gan0RAEmOM @806
that control plant growth. Write 80 mimyo wlenyolelimio.
any two important functions of 2 Ga00BBMOEMIB-EOSWI0 [ IWOMeRS
each of these hormones. (2) 2 woomeB®@® Ao ag)Pymid:.

KR-40
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Answer either Ques no. 15 or 16.

@al0ayem®@ 15 , 16 @ eanim; as@o

DADOODLPI®) .
15. Identify the substages of 15. svmeonamien GlJocanway I @@
Prophase I of meiosis in which @IOF alOWIM MVoEAITBID MSHELM
the following events takes place. Qaleaigem®d @ldloiGletn) agyemies.
Mention any two significance of DUMENETOR 2 (aI0WOMETBR
meiosis. | Q)LD
a) Dissolution of the a) milmoalzgoeniaa G00g B MIle
synaptonemal complex. allewogmo.
b) Crossing over. b) ewomilows soaud.
¢) Pairing of homologous c) MamI®m G(HOBBIVIDIB16)S
chromosome. eoall Galndd.
d) Terminalization of chiasma  (3) d) swomnwes esdalmessemy-
aym.
OR
@6 gyes1ad
16. Observe the diagrams. Identify 16. 2N@emn G060,
the A and B stages of mitosis. @®2conamlos A wip B wyo
Write any two identifying celsemeg ololgoleny’ @oaiwins
features of each stages. (3) a@e®msleye 2 mallenar®med almo
Q) LI,
(A) (B)
KR-40 7
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Answer either Ques no. 17 or 18,

galoByem®@d 17,18 @@ emlm; ado

_ | HOMOODLYD .
17. "There are several reasons why B R
| I o 17. “wymem @@ AIEBEIL[06®
plants can get along without ronyeRes laleeod quowlesym
respiratory organs". Justify the , ST 0.2 S00MEER H6rS”
statement giving three reasons. (3) aReO®BIL0 3 HOCMEBEONOS
OR (TV@OQUMOQ  AVOUBTI BB
: @RE)81wd
18. Fill up the flow chart of 18, (Euowegld e@os0mlse8 D@
glycolysis given below using the : AW edooaimemeaes  eflgy
list of intermediary compounds falewowlal ®moey ®mIalenm
given in the bracket. eeesnoglmimleon 6qgoalods
Glucose aj@la [loe)d.
N RIBHOHOMY
............. 2
o
Fructose - 6 - phosphate J
l 5 (DB BSOMI—6-Ca M0
........... \
J s | N
Glyceraldehyde - 3 - phosphate d
= DHAP ROMOOMUWOBOAU—3-6aN0MIBany
\! — lagyafagel
............. \
¢ .............
3 Phosphoglyceric acid J
J 36an0micand Glavdles eomilal
............. \2
‘L .............
................. 2
\L .................
.................. \
(Rhosphoenol pyruvic acid, (aDOMFEa0mDEMOB  ait0iafles
Glucose - 6- phosphate, @RI, (QICLHINT-6-8a00MiGang),
Pyruvic acid, 0610186 BRI, ([@0Besom 1,6-
Fructose - 1, 8 biphosphate, £MICANOM BanE, 2-8andqUBa0d
) Phosphoglyceric acid, @avdlesnomilad, 1,3 £6eniEan0micand
1, 3 Biphosphoglyceric acid) (3) - gilmodleeomiial)
KR-40 8
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PART - B
ZOOLOGY
Time : 1 Hour
Maximum : 30 scores Cool off time : 10 Minutes
1. Observe the first pair of words 1. emoseom aisemoa mIdwesdo)’
and write a suitable word for the QENEO M6 YD alseroalses)
second pair. @IMICWIRIDOW  alBo  aRO®N

Q) $I®) B>,

Botanical garden : Living plants
ONIOZI6TIIE OB : gl myas

.............................. : Living animals (1)

OaVYEIRD
............................. : Zlaimes eaoyeed (1) .
2. Characters of a marine 2. mesggllgoem ary maye @alwes
invertebrate is given. MU MONEMAH®HRD @R ®I6Y
® Spiny skinned body ‘ PERSIGLIGEN ey slod
® Presence of water vascular L} mggggoe,cgds” B8 2bmaies
system tdles
a) Identify and write the @ 038 QcrUBE0h QyAIMOEeS
phylum. aqonmiavye
b) Write any two functions of a) ©eantlo o@eO®M ®1dlayclewy
water vascular system QG)LIONB: ?
among them. (2) b) @ecilies aosd aoaveend
UIMOWIOS 0me WaeBd
Q) FID)b>. : (2)
3. a) Identify the cell given in the 1 3. a) aleawld eamldenm eeowo
diagram. @O @@l Clw)dss.

b) Mention the name of animal b) o1 emonewmlod @oslounom
phylum based on this cell. (1) @I @al® O@HOg @MY

allecmo (e6anelo) ag@? (1)

KR-40 9 | Turn Over
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4. Two examples of fishes are

given.
® Scoliodon (Dogfish)
® Exocoetus (Flying fish)

a) Place them in two distinect

classes.

b) Differentiate the above
classes on the basis of two

Important characters.

5. a) Observe the given diagram
and identify the parts noted
as A, B and C.

b) Write the role of secretion
stored in Part A.

(3)

(2)

EBC

417

DTVITBHROS BN HBEIAOBEMETBROGT
Bl mMmae

® Mesoglewocanoemd ((voa)

® oMM (alode)o bzm‘so)

2) @maew @6y gy aVdaleroa

WBEISI O bs.
b) @& (wwom mescumAalicway

OHBIOS @0 Slaunom el @

AOUOW ®o@HTE6)H;. 3)

a) ®moey ommladlenim oo
mleleda” A, B, C ag)om)

CONEMBR @@l Clais.

b) A agom eowary G006 D60

s¢m  (maemlen  wdome

0G)FEDbs. (2)

| > Ducts from liver
’ (BHOSIBMIM)e D88 MOS0k )

KR-40
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6. Uricotelism is more 6. wdoomee 8TV B MO 6P
advantageous than ureotelism @0 sl moom e @ aidemoowyo
and ammonotelism in strictly S01@  glafeaym mamyses)d
terrestrial animals on the basis wiolewonselomenn H6)08)0
of water conservation in the ®E0eeMOn Sl medm B608J0
body. Justify. (2) (UEWORMH000® BB Wles60-
esellamoem’ myoeedloes.. (2)
7. Diagramatic representation of 7. ompyymiea  @odened  eew
CO, transport in man is given. a8 0emwlon (SoMMBat0dS
Observe and answer the Boemleegm 2/li@l e eemo
following. n @Bl elenim;. M@l o)
DODOTBRD ag)L)®)b>.
As Carbonic acid | ‘
B0deen 106Nl @MU
As Carbaminohemoglobin
#0denuoalemd adlemocggoenlad
a) Name the method of COZ a) A Q@m“ (TU&Q_]']QL_[]_% B0DenIem-
transport indicated as A. OOWRIBOOTVL (S0MMIEaIORS)
b) Write the name of enzyme O dTIES ol ag)simye
involved in the process A. (2) b) A agm ielweim pdeagges
@OMOUTWIOS Gall ag) @b, (2)
KR-40 11 Turn Over
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8. a) Fill up A, B, C, D and

complete the branching chart

EBC

417
8. a) A B, C, D agmlar ayadlaflaf

OB ®MIEIHHIM  OaII0)a o

given below. QOIS
Blood
QB0
Plasma 0000 eeeeeeen A) ...
gJomim
RBC (B) Platelets
sy aslooemgeed T G sgjor o
Granulocytes C) .oce
(DOMYERIDEETVFTY
Neutrophil [10) [ Basophil
myesoanl@ | 6N10GaVIL]ED \
Lymphocyte Monocyte
efloGanoeeaug GQOGEMOOOAVH
b) Write the function of b) egjgeeiqieains wdomo ageyme  (3)
platelets. (3) @6 gyl
OR » 80} oo mowoeem ECG ol

"In man, normal ECG consists of 241 OROWETRR EOET ©88® @O

;?r;evzvaavvee& ) a) P-meono

b) QRS complex wave b) QRS e®:00gjesmd’ maowo

¢) T-wave ¢) T-@oomo

What does the above waves ea® lOFID ®OVEBA ogTIOM

mean? (3) OWOOSOWIEN BODBDDOBOYTB? 3)
KR-40 2
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9. Name of few bones of 9.  @vegdaeeend wedelgmieel
appendicular skeleton is given aflel @ounl®810s cal@ ®oayw
below. RQESSIQOIGE= a0o)N
Clavicle &omlsesiid
Humerus olkbielyly
Tibia Slenfiw
Patella aloeges
Scapula aU0azel
a) Select the bones of pectoral 8) oaldosood b o
girdle. @Il O®OOETHSIH6. -
_ ' _ b) @sewglomwie  eadales
b) Name the articulating cavity Ndavledomayo ol
between femur (thigh bone)
cwoglafleeym ayoalglwies
and pelvic girdle. (2)
GAIOLI®)bs. (2)
10. A table is shown below, based on 10. @oamzavoal Wwmalesjo mm@gas
the endocrine gland and their aemgie ®oemlenm  ag s
secretions. Complete it by filling n@sieidsesymy. A, B, C, D ag)al
A, B, Cand D. (2) Qfl5)8010® @OWEBA adlafla] aigle
DIQOIFNGFTYS (2)
Endocrine gland Hormone Functions
@oamguoadl (mmdl Ga00BdEmOeNM WRADETRWD
Pancreas | ... A) ... Hypoglycemic hormone of blood
BOUMEMIMI] BT 6L Rieeeonilo @osal eyosaim;
.......... B) ... Thymosin Provide immunity
O®EROMIIM BOIN(IUIBOOW GUvadl M@BeyMy
Pituitary gland ADH/Vasopressin | ©€) .........
aflguadl wmnd ADH/aioeqvosimiad
Ovary | ... D) ... Support pregnancy
@0EMLONo ndeworemea® mleimdamymn
KR-40 13 Turn Over
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11. Fovea of retina in eye contains .....
a) rod cells only

b) cone cells only

11. sqpea eogimeiee canoalwwidd

ORBOQSIAND ..o
a) GO0 GE:OUETBD MO(®o

b) @@oed cHOUEmUW @O(®o

c) both rods and cones c) @0oa GHOMEMBlo  BHIEM
d) rods and cones are absent (1) BOURGRE
d) cooaw emomemglo  EHOeM
BHOUETBRY0 DL
12. a) Complete the given table 12. a) aig® aydediedlend (empauy
(parts of human brain) DNV L BOTOR @UEBR)
Fore brain Hind brain
Parts/eomemad Parts/eomemdd
1) Cerebrum/evcienio 1) Pons/@alosmay
i1) Thalamus/@eoany ) | s
I | e 111) Medulla/eaag)

b) Which one of the above parts b) oyegldd  esosEmIClenim
of brain that controls gasiric aav@l et Bemled  cOnaBEla
secretions? (2) EDROR@OMETONR HFa0BMODD

Oeanm @OWo agy®?
13. Identify the given biomolecule 13. omoviald  pdeqisiam @Y
that comes under fat. (D emlclenym ek  ®MI®
@@ 01,
0O
I it
CH,-0-C-
ﬂ) | z B, 0 CH,-O0-C-R
I I
R,-C-0-CH
- | ”O R,-C-0-CH 0
l I
CH,-O-C-R
. C-k, CH,-0O-C-R,
KR-40 14

For more question papers

417

)

(2)

83

R
a0 Ty
YA

Please visit: www.easybiologyclass.com



Print Less... Save paper... Save Trees....

14. a) Identify the given diagrams
of connective tissues A and
B.

14. 2a) omides;m cwomsewisn @6nE’
al@emd A, B agmia

@@ o) Slads.

(A)

(B}

b) Write the location of tissue b) B agm  sel DMOasymad
B in human body. (2) aglloswoen’ qudlel e.0igumae
15. a) Name the biomacromolecule 15. a) moev 8051 alenm  enimuo
(polymer) in which the WO eeRA ®mmomeiasem
peptide bond is present. BT en T s T
ealajoengay enimwo
b) Name the bond present b) e agemala
between phosphate and Ganomseanglingo oo
hydroxyl group of sugar in 660G (W ds @ (afimgo
nucleic acids. (2) sl $06MeaS30M
SUTWATTIOR Gl ag)Pimcs.
16. Prepare two correctly matching 16. omidlenym aicemd e Py
pairs from the given terms. O6NE @OMEWORIBOW alBERO od
Ommatidia W00 06)65.
Hepatic caecae sooglaliw
Genital pouch eanaiogles miles
Sensé organ- 0BOOMQD atvaf
Excretory organ 2emoemdlo
Digestive gland allovdgmoniwalo
Upper lip (2) GaOm md
GQM opens
KR-40 15
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FIRST YEAR HIGHER SECONDARY IMPROVEMENT EXAMINATION SEPTEMBER 2016

5 %
FINALIZED SCHEME FOR VALUATION / S
é § " = )
PART Il PART.A BOTANY CODE No.417 . “Total Score : 30
Q.No. Scare | Total
Value points

i d) (i) and (jii) 1 1

2. c) Mitochondria 1 1

3. e |tisused in polishing. % 1

* Itisused in filtration of oils and syrups. b
4. s Heart wood % 1
* Itis more durable ,thick and resistant to attacks of micro- %
organisms./any other quality of heart wood.

5, Cyclic electron transport Noncyclic electron transport Y 2
a)Only pigment system | is b)ATP and NADP are formed X4
involved c)Splitting of water occurs
d)Only ATP is formed

6. Syngamy % 2

e (One of the male gamete /sperm fuses with the egg cell/female Y2
gamete/ovum to form a zygote.
Triple fusion %
* Second male gamete/sperm fuses with diploid secondary
nucleus(polar nuclei in the central cell) to form primary endosperm
nucleus.
(Explanation of the two processes without the technical terms give full score | %
2)
7 Dicot stem Monocot stem 2
* Open vascular bundles e Closed/without Yot Yo
/with cambium cambium,
e Numerous vascular Vit Ve
e Limited number of bundles.
vascular bundles.
e Arranged in the form of ®* Vascular bundles are
a broken ring. arranged in the
e Presence of : scattered manner.
sclerechymatous bundle s Presence of
cap. sclerenchymatous
e Xylem vessels are bundle sheath.
arranged in linearly. ®  Xylem vessels are
e Polygonal shaped xylem arranged inY or Vin
vessels. shape.
(Any two other differences from ¢ Round shaped xylem
;ach type giv:rffull score 2) cr vessels.
tRyam Shseucn :”’E’r ¢ Presence of pratoxylem
c/@é’;':"‘lfﬁrc.r f" veE gul frorel Sl
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8. i) Coleoptile Vi x4 2
i) Plumule
iii) Radicle
iv) Aleurone layer/protein sheath
0. * Splitting of water molecules and accumulation of protons within 1 P
the thylakoid lumen.

* For the reduction of NADP+to NADPH+ H+,protons are removed 1
from the stroma.

* During electron transport, protons are removed from stroma and
released into the lumen of thylakoid. (Any twa events related to
chemiosmotic theory of photosynthesis give full score 2/
diagrammatic representation of chemiosmosis during
photosynthesis/ any two events related to proton gradient)

10. Prokaryotes- 70 S Y 2
Eukaryotes — 80S/70S Ribosomes are present in mitochondria and %
chloroplast /Any other related differences of ribosomes, give full score 1 1

® Protein synthesis

11 Facilitated diffusion Yaxd 2

i) Uniport

ii) Antiport

iii) Symport

12. * The element must be essential for normal growth and reproduction. | %x4 2

* Specific, not replaced by other element.

¢ Directly involved in the metabolism of the plant.

Mg(Magnesium)
13 A B Yaxd 2
a)Stomata closure v) ABA
b)Citric acid iv)Kreb’s cycle
¢)Glycalysis i) Cytoplasm
d)Heterophylly ii)Plasticity

14. Auxin- VaKa 2

® Apical dominance

* Root initiation

* Prevention of premature fruit and leaf fall

* Promote abscission of old mature leaves and fruits

Gibberellin

* Bolting

» Delay of senescence

* Stem elongation ‘

* leaf expansion in tobacco

Any other related 2 functions of auxin and gibberellin- give full score 2

7
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16.

18.

a) Diplotene
b) Pachytene
c) Zygotene
d) Diakinesis
Significances-
= Formation of haploid gametes.
= Increase genetic variability/ leads to evolution
» Conservation of specific chromosome number in successive
generation of a species
Reduction in the number of chromosomes OR any two other significances

OR

A-Metaphase
* Formation of spindle apparatus./ Metaphase plate
* Chromosomes are arranged at the equator of spindle apparatus
® Spindle fibres are attached to kinetochore of chromosome
(any two other correct features of metaphase.)

B-Anaphase

¢ Centromere split and chromatids separate.

* Movement of daughter chromosomes towards the opposite poles of the
cell

any two other correct features of anaphase)

* Every part of the plant take care of its own gas exchange needs
and there is very little transport of gases from one part of the
plant to another,

* Plant do not have great demands for gaseous exchange, the
rate of respiration is far lower than that of animals.The
availability of oxygen is not a problem,because oxygen is
released within the cell during photosynthesis.

* The distance for which the gases diffuse,even in large,bulky
plants is not great as living cells in a plant are located quite
close to the surface of the plant.

* Presence of stomata and lenticels on the surface of plants
Presence of loosely arranged cells with inter cellular spaces
(Anyather related points )

OR

* Glucose- &phospﬁate

* Fructose-1,6-biphosphate / Fructose-1,6-bisphosphate
® 1,3- bisphosphoglyceric acid/1,3- bisphosphoglyceric acid

¢ 2-phosphoglyceric acid

*= Phosphoenol pyruvic acid

x4

Vi
Y2

OR

%

%

Ya

A

OR
%X6=3

®  Pyruvic acid

| Total Score

30

3o
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